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N.RN.A.2: Operations with Radicals 3

2
1 The expression (2 - 3«/; ) is equivalent to 8 Simplify: 3 2a 18a°
1) 4-9x X=y \ X=y A (x-y)’

2) 4-3x
3) 4—12/x +9x
4) 4-12~/x +6x

9 Simplify: ~/a +24/ab’

2 Simplify: (x/x —Afy)?
10 Simplify: 2ax~/45 +ax~/20

3 Simplify: (2&/? -b)y@a+ 2«/3)

11 Simplify: /208’ ++/45a°

4 Simplify: [X—H./X—_l]['\/xz—l]
T x=1N x+1
12 Express 54/ 3x® —24/27%’ in simplest radical
form.

5 Simplify: |+ x.|—=

b a 13 Find the sum of A/ 12a° and A/ 27a°b?.

2 2.3
6 Simplify: /aTb x ./abc 14 Simplify: 3+/242x°y° + 11xyA/ 2’y

A 108x°y*
7 Express —=———— in simplest radical form.
6xy’
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15 The expression 4ab~/2b —3a~/ 18b° +7ab~/ 6b is

16

17

18

19

20

equivalent to
1) 2aba/6b

2) l6ab~/2b
3) —5ab+7ab/6b

4) —5aba/2b +7ab~/6b

2a

2

+

oo

Simplify:

Simplify: b«/g—azb2 /# +Ala’h?
a

Simplify: «/9X5 +18x%y — J4xy6 +8y’

The expression %

«/g (3m«/§ -k «/5 ) is
equivalent to

1) 2maf3 —kA/2
2) 2maf3 —3kA/2
3) 2m-kA/2
4) 12m-k~/6

Express y«/g - («/5 +y,\/E) in simplest

radical form.

21 The legs of a right triangle are represented by
X+ «/5 and X — «/E . The length of the hypotenuse
of the right triangle is represented by
) N2 +4
2) 2X*+4
3) xA/2+2

4) Ax*-2
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22 Simplify:
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N.RN.A.2: Operations with Radicals 3
Answer Section

1
2

10

ANS: 3 REF: 061407a2
ANS:

X—2A/XY +VY

REF: 039309al
ANS:

2a«/g +4~/ab —ab —2b«/€

REF: 090404al

ANS:
X+1

REF: 019911al
ANS:
1

REF: 089312al
ANS:

a’c

REF: 099911al

ANS:
’ 5,,8
ﬂ — ’18x4y3 =3X2yﬁ
A 6Xy°

REF: 011133a2
ANS:
(x-y)

a

REF: 069709al
ANS:

@b+ 1)a

REF: 099511al
ANS:

gax «/E

REF: 089312al
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20

ANS:
(2a+3a*)+/5a

REF: 119313al
ANS:

5403 =2 27x3:5«/;«/5—2'\/9x2«/3—:5x«/3——6x«/3—:—x«/§

REF: 061032a2
ANS:

(2a +.3a2b)(x/3_a )

REF: 119209al
ANS:

44x7y* A 2xy

REF: 019111al
ANS: 4

4ab~f2b —3a~/9b? /2 +7ab~f6b = 4ab~/2b —9ab~/2b +7ab~/6b =—5ab~/2b + 7ab~/6b

REF: fall0918a2
ANS:

22

REF: 119411al
ANS:

b~fa

REF: 060505al
ANS:

(3x* =2y )/ X +2y

REF: 069709al
ANS: 1

26 (3m/2 kT3 ) = ma12 - & 18 = 2maf3 k2

REF: 011710a2
ANS:

yal3 —4nf2 —3ya[3 = —2yA[3 — 42

REF: 081436ia

ID:
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22

ANS: 1

c=\/(x+«5)2+(x—ﬁ)2 =Jx2+2«/§x+2+x2—2ﬁx+2 =«/2x2+4

REF: 011626a2
ANS:

X—1—alx*=2x

REF: 030504al
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